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General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, C and
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each and
Section-D comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted.
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Question numbers 1 to 4 carry one mark each
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A ladder is placed against a wall such that its foot is at a distance of 2.5 m from the wall and
/ top reaches 6 m above ground. Find the length of the ladder.

1 s36° 3 16° #;
oL s e L

3 sin 54° 2 cosec74®

cos36° 3 sec16”

. 1
Find the value of — . = : -
.3 o sin 54 2  cosec 74

3 Wﬁsinu-cosa}:ﬂ,{:segw%,?ﬁawmﬂamafﬁq1

If sinB — cosB=0, 0 < 0 <90°, find the value of .

4 ﬁaﬁmmmmﬁaﬁmﬂmqﬂﬁaﬁmﬁﬁm:

FE fernieral =t g
10 § %9 2
20 § %9 15
30 4 F1 40
40 51 71
50 ¥ 4 85

From the following cumulative frequency table, write the frequency of the class interval 30-40.

Marks Number of students |
Lessthan10 | 2
Lessthan20 |15

Lessthan 30 | 40




Less thand0 | 71

Lessthan50 | 85

EUg-d [/ SECTION-B
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Question numbers 5 to 10 carry two marks each.

Hﬁﬁﬁﬁﬁﬂ:: 2
(—1)n+ {_1)2n + '-'.—11'2[”1 £ (_1}1n+2, WH#WWW%J
Find the value of :

(=1"+ (—1)20 + (—1)20+1 4 (—1)80+2 wheren is any positive odd integer.

5050 F1 3PRY TOFETET F OHEA ¥ 5 S o5 ST S T Saem s o) 2

Express 5050 as product of its prime factors. Is it unique ?

%ﬂma@ﬁx?ﬂmu%?ﬁaﬁﬁmﬁmlWamwﬁﬁ%mﬂﬁﬁwﬁaaﬁﬁm 2
Find the zeroes of the quadratic polynomial x2+x—12 and verify the relationship between
the zeroes and the coefficients.
. 2
AABC ~ ADEF @] AB= %DE €, Tl &PTeT (AABC) : &% (ADEF) 916 Fife |
Two similar triangles ABC and DEF are such that AB= ;—DE Find ar(AABC) : ar{ADEF).
9 fFrfefan wdafme i g it - 2
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\/ Prove the following identity :

2
[L= tan AT .
———— = fan‘a i LA s acute
I_l' cntkj

= panlA ; Aﬁuﬁ‘??ﬁm%l
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2 2 3 12 18 5 2

Given below is the distribution of weekly pocket money received by students of a class.
Calculate the pocket money that is received by most of the students.

EEEE Money | 000 | 2040 (4060 |coso TentmiiE D o100
Namber s okl 2 3 12 |18 5 2
students

EUS-H [/ SECTION-C

T HEAT 11 ¥ 20 F UE F1 3 ST B
CQuestion numbers 11 to 20 carry three marks each.

n o wifse f 5w afti g # :

Prove that +/5 is an irrational number.

X 12 et geiieo o 9 e fafy g we i 3



x+y=6
sx—y=10

Solve the following pair of equations graphically :

x+y=6 11’5"\{1:}-'

3x—y=10 %

G TETEX —6x + 6x+k TETZ x—3 T ToIAT WY 1 W K k WA T FA 3

Ifx —6x +6x+kis completely divisible by x— 3, then find the value of k.

fiemt ogwe X — 20— 8 % Y A o o p & 1 foEeh e i iR Forers Yo ui w% i

2
Quadratic polynomial x —2x—8 has zeroes as « and B. Now form a quadratic polynomial whose

2 2
Zergesare — and —.
o B

AABC ¥, AD iyt %t mifizra £ 951 AM 1 BC 1 fig 39550 AC = ADP < BCx DM = }Bc’ _

If in AABC, AD is median and AM L BC, then prove that AC*= AD?+BCx DM+ L BC?
4

16 3rfd ¥ DEFG W& o7 # 7 /BAC=90° | fig Fi BEX CG=GF 3

C D A

In the figure DEFG is a square and /BAC=9(°. Prove that BF X CG =GF

Page50f1l



,,.705' [.1 5
0 ~
{:) ‘ o | ‘qu' o e [ » ]
g L 0
7:4\{\ 1 1 A
(P> | '-; [ &
yo 0 W
B
= Lﬂlci‘.{z rnl'd
Jodel
G E )
Lﬂ*‘ M d
C D A
17/ 3Mtan (A+B) STIRIMT € R cot (A—B)= 5 &, W A 21 B 7w i) 3

18

Given tan (A + B} is not defined and cot (A—B)= +/5 , find A and B.

m}?—flﬁ%“l 8 % fom, fag ifsw 3
(i) sin2f +cos20 =1

(i) 1+ cot? B =cosec? §

For any acute angle 0, prove tha’lc:

(i) sin2f +cos28=1

(ii) 1+ cot? f=cosec? §

ST 2013 % T WA H U I § qifae g8 S F Hhs # oE H G A g 3
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Tt @t 7E | 30 B |5 |6 |90 |115 135 150
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Following is the age distribution of dengue patients admitted in a hospital during a week of
Oct 2013 :

Age (in years) | less less |less [less |less |less |less |less
than |than | than | than | than | than | than | than
10 20 30 40 50 60 70 80




Number of | 30 35 55 |69 |90 115 135 |150
patients

Draw a “less than type’ ogive for the above distribution. Also, obtain median from the curve.

a‘ﬁﬁﬁfrwmqﬂmﬁ,ﬁaﬁﬁf?ﬁm Immﬁﬁ,mﬁﬁﬂmmﬁm 3
T E:

Flinic 0- |10- |20- |30- |40- [50- [60- [70- [80- |90
10 (20 |30 140 |50 |60 |70 |80 |90 |100

ﬁmﬁ'ﬁaﬂa4ﬁ154uzﬁsnmz4
o=

l
Eﬁﬂﬁmﬁrm'ﬁw%m*mmﬁiﬁm

In a class test in English, students obtained marks (out of 100) as shown in the following
frequency distribution :

Marks 0- |10- [20- |30- |40- [50- [60- | 70- 80- | 90-
obtained 10 120 |30 |40 (50 |60 |70 |80 90 | 100

MNumber of | 3 4 2] 15 (40 (26 |30 (10 |2 4
students i

Draw a “less than type” ogive for the above data.

WUE-g / SECTION-D

W AT 219 31 5 WS #4375 2
Question numbers 21 to 31 carry four marks each.

ﬁ T 4% =R 3 69 TR 3 @ wa: 825 kg, 675 kg ¥R 450 kg Gl | =% sfvman swT 3w 4
aﬂﬁmﬁuﬁﬁﬁaﬁmﬁmaﬂﬁmﬁwmm%

A wholesale merchant purchases three types of fertilizer weighing 825 kg, 675 kg and 450 kg
respectively. Find the maximum weight that can measure the three types of fertilizers exact
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number of times.
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Government of Uttarakhand allotted Relief Fund to help the families of Cloud burst affected

village. The fund is represented by 3x°+x2+2x+5. The fund is equally divided between
each of the families of that village. Each family received an amount of 3xr—5. After
distribution, 9x+10 amount was left. The District Magistrate decided to use this amount to
open a school in that village. Find the number of families which received relief fund from
Government. Why government has donated the fund 7

UGS Hg-ileal & Ty &N X F 90T A F47 B 7 51 T 1500 $55 191 9% X A GF s Ui 4
X B BRI Ushat U H ¥ 100 FH i, T T BRI T HI9C [ Fodeh I o fhet et afy wes
Gl

For uttarakhand flood victims two sections A and B of class X contributed

T 1500. If the contribution of X A was T 100 less than that of X B, find graphically the amounts
contributed by both the sections.

agqaax*l—lthmﬂwxus%a‘fwﬁ 91 — JE €1 395 94 IS 91 Fifeg |
3 3
Find all other zeroes of the polynomial 3x*—12x%+10x2 +8x—8, if two of its zeroes are \E

and—\lg,
3

afg AABC ~ APQR &R AD, PS ®HY¥: AABC 3R APQR #i #ifigsn € ot fag Fifsm fs 4

ar (2ABC) _ AD?
ar (APQR) ps?

If AABC ~ APQR and AD, PS are medians of AABC and APQR respectively, then prove that



ar (AaBC) _ ap?
ar {51’{}2] psl

W%ABCDﬁABfFCDSﬂTDC=4ﬂB§J zri“aEFuAB%amafﬂr:BaﬁEaﬂwmm 4
RIS R = = 2 3, 3 g Wi s BF=14 B |

ED

In a trapezium ABCD, AB||CD and DC=4 AB. Also EF||AB intersect DA and CB at E and F

such that el = -3—. Prove that 5 EF=14 AB.
ED 2

TaE ifem . 4
sin A 1+ casa cosA 1~ sinA
R e e U | ) = = d sech
1F coghA sinA 1~ sinA cosA
Prove that :
sinA 1% cosza cosh 1= zinA
e e e Aoty | S R P ———— | = 4 secA
1+ cosa sinA 1~ sinA cosA

ﬂﬁtanﬂ+55nﬁ.=m~3ﬂi tann—srnn=n%,a‘1ﬁm3#ﬁmﬁ;4

(M2—n?)2= 16 mn &)

If tanA + sipa = m and tfanA - sipA
(M2—n?)2 = 16 mn.

n, then prove that

A B
ABCD U ¥H=gs ¥ (fax 2fgn) et farl AC, 10 em el & 5o S w5 4 A ¥ Wy
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(i) AT HI e F wan
(i)  gE fawl =t arar

D C

N
b N

A B
ABCD is a rhombus (see figure) whose diagonal AC is 10 cm long and it makes an angle § with the side

AB of the rhombus, such that tanf = Find

W |w
'

(i) length of side of the rhombus.

(ii) length of the other diagonal.

\3/ et ges o 100 faenfeei = <= &g soia T 2 -

wa @Y (TH) (020 [2040 |4060 |60-80 |80-100 |100-120 |120-140
EEIERl =
HEN

1 6 10 20 30 20 10
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Pocket money of 100 students is given in the following frequency distribution :

Pocket money
(in%)

Number of
students

0-20 |20-40 |40-60 |60-80 |80-100 |100-120 |120-140

4 6 10 20 30 20 10

Draw a ‘less than’ ogive and ‘a more than’ ogive for the above data.

@/ﬁnwﬁﬁﬁwmﬂﬁm&ﬁfmmeﬁiﬁﬁmmmw%;



0 = |10 =0 (20 91|30 =1 |40 = |50 =0 | 60 = [ 70 = | 80 =0 | 90 =1 | 100 =1

smais |99 |TE [SHE | oW v W v |om | | ==
e | st | aiftr | atfiyes | atfies | offiss | otfuss | atfis | o

sfigew | sl :
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- 7 3 0
e 80 77 2 65 55 4 28 16 10 8
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Following table shows marks (out of 100) of students in a class test -

More :’hi':'m More More | More | More | More | More | More | More Nl
than iy o than than than than than than than
than or than
Marks or i aal o] °F or or or or or or o ]
equal Bt E equal | equal | equal |equal | equal |equal | equal to1 5?“‘
to 0 :gw to30 [tod0 [t050 |to60 [to70 | to80 | to90
Number
o 80 i iz 65 55 43 28 16 10 8 0
students

Draw ‘more than type’ ogive. From the curve, find median. Also check median by actual
calculations. :
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